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OPERATION - 175 (DAY -13) - UNIT IX & MATHS

1. The philosophy of Social Justice is largely rooted in

a) Natural Justice. b) Moral Justice.
c) Distributive Justice. d) Legal Justice.
s HHS 5§ gleud QubLoeTailed Coum sorMIuilmLILIG)

b) @imLd &my HHufev.
d) LD &miy Hlufev.

;1) AQumems BHulev.
¢) UISL G BHlufeo

The Protection of Women from Domestic Violence
Act-2005 safeguards women from :

a) Physical abuse. b) Sexual abuse.

c) Economic abuse. d) All the above.
QILI6TT 5 (615 & QA & T T6wT (& (B LDLI 6UGT (MM S &HLILE
&LL_LD 2005 6TTh& IIGLOTEIT 61631 (L6 M & 6fled) (HH &I
QU6 & (e 5 (G LIMTGI&TLIL| UL hI(GHM &1

a) 2_L6V If lWImewr euesT(LP6mM

b) LITESILI6L I ST 6T 61 65T (LP MM

¢) QUIT LTSI If HIWIT6TT 62637 (LD MM

d) @1hS €L 6T 6U6DSWIT6IT 61 63T (L 65 M & 611160) (15 )LD

Consider the following Assertion and Reason
Assertion (A): Bringing down the influence of the rich
and powerful people in making
Governmental decision making is the
challenge in the concept of “expansion
of democracy'.

Reason (R) : People's participation and their control in
meaningful, only when influence of the
rich is brought down. It results in
“Deepening of Democracy”.

(A) Ais wrong but R is correct

(B) Both Aand Rare correct

(C) R is wrong but Ais correct D

(D) Both A and R are incorrect

Spa@BLD &([HSHF LLMHMILD SIT6TLD ) Hweuhenm

56U6u11586LD.

&5 (A): ATEFMMHIS (LP1g.Cl6UIq 586016V, LI6TT 5 ST & 61T
LHMID HHSTILD LEHL &S LD & & erfl6or

Q&6LEUME M (EMMLILIG) 6T6HTLIG)
“e0 6UTHITLI&
alfleur&aLd” 6TEILD & (h&HSH 60T F6uITeL
2% GLD.
SM6UuTLD (R) : L0&&6IT LIkIQ& HLILY LHMID Si6ul&erflesr
SLEUUTE 6T6TL ) LI6uT &8Iy & el ot
Q&6LeUTSH G GMM&SULELOCUTG)
L HGw
QUITHELMLWSTS MM, @& Geu
ROBTLGSMS S PUILEGSHSID
[HL_6119.5 60 & W|LOIT(GLD.
(A) A Hum| 94,60M6L R LOLB'LD &
(B) A LomMILd R @pesor@GLd &ifl
(C) R H6um] oy, 601m6L A &l
(D) A DHMID R @r6sT(HLD &l 1606V

Which is / are the reason/s for the success of "The
Tamil Nadu Model" of Public Health?
(i) Tamil Nadu was the first state to enact a Public
Health Act in 1939.
(ii) Creation of distinctive Public Health System at
district level.
(iii) Good political commitment and leadership in
Health sector.
(iv) Heavily centralized Health systems.
a) (i) and (ii) only b) (ii) and (iii) only
c) (iv) only d) (i), (i) and (ii) only
Qurrg &&MHMISHH6L "HLODHTH LTS uilesr
QeuM& (@& SITIJEEUTLD / & ITIJ 6TV TG 61T WIT G WIT6WI6U?
(i) 1939 - QPLD 34,660Tlq.60 QTG HHTHNTEF FLL H60G
Quibmiw 0560 KoL SHHTE.
(i) LomeuL_ L Sienaileb el gleunmer QUG &&TSTY
Womew gHUG SIS
(i) H&MTHTIH FleOMuiedL AFEWCL F luwimeor
SiFLuesoflliy
LOMHMILD &§6MEVENLOS GIAULD.
(iv) QUAIGID OLWLLGSHSHLUILLL SSHTHT] SIEHLOLIL|SEIT.
a) (i) LoHMILD (ii) LI B'LD b) (ii) LOMHMILD (iii) LOL_B'LD
¢) (iv) DB d) (i), (ii) LoHMILD (iii) LOL_B'LD
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As per the census 2011, which district of Tamil Nadu
possesses the highest literacy rate ?

a) Chennai b) Coimbatore

¢) Kanyakumari d) Namakkal

2011 -QpLD 2}, 6VTT1q 63T LD & & 61T QHT 6 & & & 65015 618 (1 LiLTl 661
Ulg., SLOILDIHITL Lq. 63T 6TTHS LOMEULL LD LIS 1) &LOIT6oT

sevall allls s m g & Q& e (heTeng) ?
a) Q& soTem6TT b) G&MUIDL ST
¢) &etreoflwim g Loifl d) IHITLD& & 60

i) Tamil Nadu is grouped among the high enrolment
ratio states in respect of school education.

(ii) This has been possible mainly due to the supply of
free food, free uniforms, free footwear, scholarship,
etc.

Which of the above statements is / are true ?

a) (i) only. b) (ii) only.

¢) Both (i) and (ii) d) None of the above.

(i) usirefls sevallemwil QUITMIS Geuen] SLODHT(H

g smer CFj&H M allls S mes Q& memL
Lombhlevni s afleb speiTmTs euenasLILE SHLLIL (HeTeng)
(i) @ &I ETHHNLILDIT6U & (DG (LP S 60T 6TILOLLIIT 65T
SRS TTS
BmuLG @6v6us 2 ey, Q6V6UFE &I LS,
@ev6ugs SmeL6TENS 6T, Hevall 2 5alls05Tme
Gurmermemneu auLpMRISLILG UGS I (GLD.
CumsmariU@GLD FahHm)seafled Flwmerenel 618 /
6T6m6U?
a) (i) LOL_(B'LD
¢) (i) LoMMILD (i) @yever(Bd

b) (ii) LDL_(B'LD
d) eTgleLd @ 6Lemev

Transplant Authority of Tamil Nadu (TRANSTAN)
was created in the year

a) 2014 b) 2016 c) 2018 d) 2019
SIPHI ([ Weflg 2 ML LTHM| 6 6TTWILD
QBHTLMISLILILL eU(HLLD

a) 2014 b) 2016 c) 2018 d) 2019

Which position does Tamilnadu occupy in organ
transplantation during 2019?

10.

11.

a) First place b) Second place

¢) Third place d) Fifth place

2019-1D 3y, 600T1q.69T LO 631G 2 mILiL] oMM H&H&emauilsd
SO B (D 6THS QLHH6L 2 6T g

a) (PGeLmd @L Lb b) @ yevorLmb GL Lb

¢) CLPETMITLD @L_LD d) QST GL LD

'Kaya Kalp' award is related to which field?
a) Yoga b) Sports
¢) Medical d) Education
'STW &60L (HG) 6THS GIHMW|L 65T QASHTL LML WG
a) Gumsm b) ellememwir_®
¢) LD(h & Gl6uLD d) &evail
Assertion A: Access to Primary Health centres helps
identification, care and prevention of
communicable diseases in rural communities.
Reason : More optimum utilization ofrural health
infrastructure is expected to yield expected
results.
2 MIFIUL& oML (2) - HIPITLO L& & 6T HHT G
EOLOILIMIS M6 6T SIS SITHI(GLD
Gurg)
SibwsseflamLCuw QAgmHmI
GBI emer
SIEMLITETLD &ITEUT6LD, & 616018 & LD,
56 &56|b 2 56|DF).
STJ6UOTLD (ST) - FTLOLILM FHTHTY 2_67TSHL_ L 6mLoLIL 6o
2 &hHG LweTLT® THFCHTE GLD LICOm 6 S
S@Ld.
(A) Both A and Rare true and R is the correct
explanation of A
(B) Both A and R are true but R is not the correct
explanation of A
(C) Ais tiuebut Ris false
(D) A is false but R is true

According to All India Survey for Higher Education
2019, which State produced the maximum number of
Ph.Ds. in the countiy in 2018?

(A) Tamil Nadu (B) Kerala

(C) Maharastra (D) Gujarat
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12.

13.

14.

SMTHG QW 2 Wij &6LaNS ST &6v015 608 B LY
2019uf6dT Lilg 6THG LOMlevLD 2018uil6L HHSHLIL &
6T 6001600716 60 & U 6LIT6DT LT). 6T &1 &6DI6TT ((LP6) 60T 6LII] & 63)61T)

2 (Heum&&l6iTen g
() S61LBIE (B) Gagemm
(C) LD&MYTEQIY [T (D) BRITH

Which of the following waterfall is not located in
Tamil Nadu?

a) Beman waterfall b) Pykara waterfall

c¢) Thirumoorthy waterfall d) Palaruvi waterfall
&CLp A5TE&sLLL B eTarameausafleb SLOILPHTL 1g.60

SAmHHTTS Biaflpsa erg

a) Bwetr Befips& b) ouGSTIT Brafipss

o Hoapisd frafpéd o ureo@el Fiaflpéa
Which district of Tamil Nadu has the lowest child sex
ratio according to census 2011?

a) Madurai b) Theni

c) Ariyalur d) Cuddalore

2011- Q4 LD Sy,600T1q. 65T LD & & 61T QG T60) 5 5
860015618 (B LILT6ITLILG, SLOLDIHITL 1q.63T 6TIH& LOMEUL_L LD
16156 (&MMEUTET GLpIhemg LI Limedler aildg g s s

Qamen @ eireng)?
a) Lo glemy b) G evfl
¢) AWV d) SLEVITY

Why Chennai is called as “Detroit of Asia”?

(A) Due to the presence of Textile Industry

(B) Due to the presence of Automobile Industry
(C) Due to the presence of Leather Industry

(D) Due to the presence of Film Industry
‘QpAWmalledt QLLIMUL” eTedTm Q&6iT6m6T €] 651
A®WP&HSHULGEMGI?

») gajafly AzmAL @EmUUZeTTed

(B) GLOMLLIY UMT&6S QHMLN6L @ HLILISETT6L
(c) Ggmev QAFMIfl6L G\(HLILIGETEL

(D) UL G QAFHTLHEL @IHLILIGEITT6L

15.

16.

17.

18.

19.

20.

Athikadavu - Avanashi scheme is related to

(A) Drop irrigation

(B) Pour - irrigation

(C) Drinking water and Well Recharge

(D) Drinking water and Ground water Recharge
HPsLe| - aBTE FHLL LD eTeTug)
Slpeu(meueTeummI6T eTHFMIL 6T QAHTLFLHLWSI?
(A QerL® BF ursarHSLL LD

8) Qgefluy B ursarsHLL LD

(©) GlgBy wHMID HeaTmiseT QsMaLl BLd HLLLb
©) @lfy wHMID Hlevssy By QML Gd L Lb

If 57- [42 - {37 - (20-x)}]=176+(8+2) then x value is.
57 - [42 - {37 - (20-x)}] =176+(8+2) erevf6L x 6i1 LOFLILY
wrg)?
a) 42 b) -12 c) 12 d) -42
Find the least number which must be subtracted from

3250 to make it a perfect square.

a)l b) 2 c)3 d) 4
3250 6T 60T 6T 6udT 660N (15 1H Gl 6T1HG & HIMHILLI 6T 6507 65)6v0T &
50168 (P (P UTSSHLOMGLD?

a)l b) 2 c)3 d) 4

Reduce 391/667 into lowest term

a) 17/29 b) 29/17
c) 92/714 d) 71/92
391/667 g SMw 2 MINILNS & (15 & S.
a) 17/29 b) 29/17
c) 92/71 d) 71/92
217x217+183x 183 =7

a) 79698 b) 80578
c) 80698 d) 81268

The marks obtained by 10 students in a test are 15, 75,
33, 67, 76, 54, 39, 12, 78, 11. Find the arithmetic mean
a) 460 b) 46 c) 23 d) 230
@@ CHJail6D 10 LOM6TT6U [ & 61T QUMM LD HLICILI6UIT & 61T 15,
75,33, 67, 76, 54, 39, 12, 78,11 6T6vfl6L @ & 60T Fo L (B &F
Srn&fenld &meoons.
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21.

22.

23.

24.

25.

26.

a) 460 b) 46 c) 23 d) 230
The number which exceeds 16% of it by 42 is

a) 50 b) 52 c) 58 d) 60
€2 (Ih 6T650T6TY)|L_ 63T U1H G 6T 65016501601 16% B (HEOM & &
FmL_5(GLD 6T6vT 42 6T60fl6L, IHG 6T 6var

a) 50 b) 52 c) 58 d) 60

If the sum of two numbers is 24 and their product is
108, then find the sum of their reciprocals ?

a) 9/2 b) 3/7 c) 5/7 d) 2/9
B 61 6v0186Mfl60T Fon (B 6L 24 LOMHMILD 3161 HM) 66T

QU5 56V 108 6T6tfl6L 1616163 S 61fl68T & 61 6L FLH) 5 6rfl 60T
o (h H6L HMEVINS ?
a) 9/2 b) 3/7

¢) 5/7 d) 2/9

If the average of the values 18, 41, x, 36, 31, 24, 37,
35, 27, 36 is 31. Find the value of x. ?

18, 41, X, 36, 31, 24, 37, 35, 27, 36 @eummie sym&f
31 er6fl6L X @\ 68T LOFILIL| 6T 60T 60T ?

a) 35 b) 36 c) 25 d) 26

The sum of a number and its reciprocal is 65/8 then the
number is

€ ([h 6T600T LOMHMILD 318631 &6M 6L ELHUT6T For (B &6V 65/8

616161 2UMHG 6T 6vor WImG)?
a)6 b) 8 c)9 d) 65
Arithmetic mean of the values 9,6,7, 8, 5and x is 8,

then the value of x is .
9,6,7,8, 5 bHMID x QYA WeeuHM6T sal B FYTEH 8
6T6ofl6L x 60T LOGILILY
a) 48 b) 13 c) 15 d) 12
Find the number of all 3 digit natural numbers, which
are divisible by 8.

8 94,60 UGG LD CLPETMELE S QLI6D 6T 65018 erfl 60T

6T 6001 60016 61) & 6MIWLI & & ITCTOT &>,
a) 112 b) 110

¢) 111 d) 108

217.

28.

29.

30.

31.

32.

33.

The average of first 100 natural numbers is

(WP H6L 100 QU6 6T 65078 erfl6dT &Iy & FILIT 60T

a) 55 b) 50.5 c)51.5 d) 50
A train is going at a speed of 180 km/hr. In m/sec its
speed is

a) 15 m/sec b) 30 m/sec

c) 40 m/sec d) 50 m/sec

@b QSTLIJ 6u6wdrlg. 180 &.L5. / Lo6waf) 6T6TM Coud & 6L
QesL&MG) 61661, 918 60T Cous Gemg LB./aTl60 &mevor.

a) 15 /el b) 30 /&0
¢) 40 L/eN d) 50 /e
Ifx:y=23:4find (4x + 5y) : (5x - 2y)

Xy =3:4 ereoflev (4x + 5y) : (5X - 2y) - 6t1 OHILIL &iT6vOT

a)7:32 Db)9:3 €)32:7 d)12:7

7/5 of 58 + 3/8 of 139.2 =?

58 60 7/5 + 139.2 b 3/8 = ?

a) 1334  b)137.2 c) 127.8 d) 131.6
If x: y=3:5then (5x+3y) : (15x-2y) is

X1y =3:5eeflev, (5x+3y) : (15x-2y) apeug)

a) 7:6 b) 6:7 c) 3.5 d) 5:3

If a+(1/b)=1and b + (1/c) = 1, then ¢ + (1/a) is
a+(1/b) = 1 wmmub b + (1/c) = 1, ereafiev ¢ + (1/a)
e

a)l b) a c)b d) -1
The mean of 5 numbers is 25. If one of the number is

excluded then the mean becomes 20. The excluded
number is

5 erevnr & efl6tT Fal (b FTTER 25. SuHMIEL QBHG © B
6T 650160) 6301 156 S 6TTMT6L IuUMHMI6T Fo LB FFMEIf 20 6T 63fl6L
158 8 LILIL_L_ 6T 6507 6U0TIT 60T &)
a) 45 b) 40

c) 20 d) 10
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34. % of (28 x 9 — 72) = 350 + 35° a) 12 by13 <¢)11 d)9 e) None
a) 750 b) 875 ¢)925 d)660 e) None
35. 2% - (3/11) of (33/25) of 2925 = 278
Answer Key

1. C 18. A
2. D 19. B
3. A 20. B
4. D 21. A
5. C 22.D
6. A 23.C
7. A 24. B
8. A 25.B
9. C 26. A
10. A 27.B
11. A 28. D
12.D 29. C
13. B 30. A
14. B 31.B
15. D 32. A
16. B 33. A
17. A 34.B

No-43, Jumancentre, Promonade road, (Opposite BSNL Office), Cantonment, Trichy - 620 001
Contact - 94438 44441




TRICHY RACE ACADEMY

COACHING FOR TNPSC/BANK/SSC/RRB/TET

35. C
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